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R�B{, $t �Y$R ���$Bt $R I$��{�jk ��4�{��I $t $�R BZ�}Z� RYs��� qY���PB��� sRRZ8$t� s d( }��{�t�
jBRR $t �Y� {s}$�sj R�B{, BP �Y$R ���$Bt $8}j$�R s d�� }��{�t� {s}$�sj jBRR $t �Y� s�����s��
�{BtB8k�

n



qY� �8}jBk8�t� RYs�� BP �Y� ���$Bt $t 8stZPs{�Z�$t� $tIZR��k $R E�� }��{�t�� V {BtR��T
%s�$%� dx }��{�t� jBRR $t �8}jBk8�t� $t �Y$R ���$Bt sR s ��RZj� BP �Y� �s��YJZs,� $8}j$�R s
d�(n I�{j$t� $t �8}jBk8�t� $t �Y� ts�$Btsj �{BtB8k� qY���PB��� b� PZ��Y�� sRRZ8�I s Bt�
}��{�t� Psjj $t B%��sjj �8}jBk8�t� $t BZ� {sj{Zjs�$BtR�

n� qY� i�RZj�R

G� R�ZIk PBZ� $RRZ�R stI {BtIZ{� PBZ� R$8Zjs�$BtR ZtI�� I$&���t� sRRZ8}�$BtRU w$D tB }Bj${k
{Yst��� w$$D ��j$st{� Bt $tI$��{� �s-�R �B htst{� �Y� �-��s �B%��t8�t� �-}�tI$�Z��R PB� }ZAj${
$t%�R�8�t�R �B ��}j�t$RY �Y� jBRR�R $t �Y� {s}$�sj R�B{,� w$$$D �tIB��tBZR sI`ZR�8�t�R Bt �Y�
�-$R�$t� $tI$��{� �s- �s��R �B ��{B%�� �Y� jBRR $t �Y� {s}$�sj R�B{,� stI w$%D $t%$�B�s�$Bt BP
PB��$�t s$I �B ��{B%�� �Y� {s}$�sj jBRR�

n�d WB _Bj${k ]Yst��

3$�Z�� d }��R�t�R �Y� sI`ZR�8�t�R BP p*_� {BtRZ8}�$Bt� $t%�R�8�t�� �-���tsj I�h{$�� stI
}�$%s�� R�{�B� PB��$�t AB��Bb$t� ZtI�� �Y� sRRZ8}�$Bt �Ys� �Y��� $R tB }Bj${k {Yst�� $t �Y�
�{BtB8k PBjjBb$t� �Y� �s��YJZs,��

G� htI �Ys� �Y� �&�{� BP �Y� �s��YJZs,� $R s d�n }��{�t� I�{j$t� $t p*_ Bt $8}s{�� qY�
s�����s�� %sjZ�TsII�I ��{B%��R Rj$�Y�jk stI {Bt%����R �B d�1 }��{�t� j�RR �Yst $�R $t$�$sj AsR�
}s�Y� yt s }��R�t� %sjZ� R�tR�� �Y$R {B���R}BtIR �B 1E }��{�t� BP �Y� jBt� �Zt �JZ$j$A�$Z8
wR��sIk R�s��D %sjZ� BP �Y� �B�sj p*_�n 7$8$js�jk� �B�sj {BtRZ8}�$Bt �B�R IBbt Ak d�; }��{�t�
Bt $8}s{� stI {Bt%����R �B s j�%�j d�n }��{�t� j�RR �Yst $�R $t$�$sj }s�Y� !t �Y� B�Y�� YstI�
s�����s�� $t%�R�8�t� h�R� I�{��sR�R Ak (�M }��{�t� stI {Bt%����R �B d�n }��{�t� j�RR �Yst
$�R $t$�$sj AsR� }s�Y�

qY� �s��YJZs,� {sZR�R st $88�I$s�� ;�1 }��{�t� $t{��sR� $t �Y� �-���tsj I�h{$�� 7$t{� b�
$8}BR� s XtB }Bt9$ �s8�" {BtI$�$Bt $t �Y� 8BI�j� �Y� {sj{Zjs�$BtR RYBb �Ys� �Y� �{BtB8k
8ZR� �$%� st �-���tsj RZ�}jZR BP d�E }��{�t� 8B�� �Yst bYs� $� bBZjI Ys%� �$%�t A�PB�� �Y�
�s��YJZs,��; qY� $t$�$sj �-���tsj I�h{$� $R }s��$sjjk htst{�I Ak �Y� }�$%s�� R�{�B� PB��$�t
AB��Bb$t� w_73 D� G� R�� �Ys� _73 $t{��sR�R Ak n�n }��{�t� sP��� �Y� �s��YJZs,� stI
{Bt%����R �B d�1 }��{�t� t��s�$%� AB��Bb$t� s� �Y� t�b R��sIk R�s���

n�1 *$R{���$Bts�k VI`ZR�8�t�R Bt ytI$��{� qs- is��R

W�-�� b� 8BI�j st s{�$%� �B%��t8�t� bY${Y s$8R s� s ��{B%��k BP �Y� jBRR�R $t �Y� s�����s��
{s}$�sj R�B{,� 3B� �Y$R }Z�}BR� $� $R sRRZ8�I �Ys� �Y� �B%��t8�t� $8}BR�R st sII$�$Btsj

nVRRZ8$t� x }��{�t� I$R{BZt� �s��� qY$R �s�$B s8BZt�R �B x1 A$jj$Bt =7 IBjjs�R s� d��M }�${�R�
;<��� b� sRRZ8� �Ys� �Y� �{BtB8k sj��sIk YsR s R�B{, BP PB��$�t j$sA$j$�$�R

;



$tI$��{� �s- s� �Y� �s�� BP d }��{�t� $t sjj R�{�B�R �B htst{� $�R sII$�$Btsj $t%�R�8�t�R� x

3$�Z�� 1 }jB�R �Y� �$8� }s�Y BP �Y� %s�$sAj�R sP��� �Y� �s-�
G� htI �Ys� �Y� $tI$��{� �s- 8s�t$h�R �Y� $8}s{� BP �Y� �s��YJZs,� I$RsR��� Bt �Y�

�{BtB8k� qY��� $R s ;�x }��{�t� I�{j$t� $t p*_ P�B8 $�R $t$�$sj AsR� �Zt� qY$R ��RZj�
{j�s�jk $R st BZ�{B8� BP �Y� I$R�B��$Bts�k ts�Z�� BP $tI$��{� �s-s�$Bt� {sZR$t� s I$%����t{� BP
IB8�R�${ ��js�$%� }�${�R P�B8 �Y�$� �^{$�t{k {BZt���}s��R� qY� bB�R�t$t� �&�{� ��%�sjR $�R�jP
�Y� 8BR� ZtI�� �Y� jBt� �Zt �JZ$j$A�$Z8� G� R�� �Ys� �Y� p*_ {Bt%����R �B x�M }��{�t�
A�jBb $�R $t$�$sj }s�Y� qY� $tI$��{� �s- YsR sjRB R$�t$h{st� sI%��R� �&�{�R Bt s�����s��
$t%�R�8�t�� V�����s�� $t%�R�8�t� PsjjR $88�I$s��jk Ak dM }��{�t�� =tI�� �Y� t�b jBt� �Zt
�JZ$j$A�$Z8� $� $R d1 }��{�t� j�RR �Yst $�R $t$�$sj AsR� }s�Y� !t �Y� B�Y�� YstI� �Y� �B�sj
{BtRZ8}�$Bt ��R}BtIR $t s %��k RjZ��$RY 8stt�� �B �Y� �s-� Vt $t$�$sj (�M }��{�t� I�{j$t�
$t {BtRZ8}�$Bt $R PBjjBb�I Ak s }��8st�t� Psjj BP d�� }��{�t�� G� {st {Bt{jZI� �Ys� �Y�
$tI$��{� �s- YsR R��Bt� {�BbI$t� BZ� �&�{�R Bt �B�sj $t%�R�8�t�� qY� �-���tsj I�h{$� $R
��IZ{�I Ak ;M }��{�t�� {sZR$t� s ;� }��{�t� I�{j$t� $t _73 s� $8}s{��

n�n 3j�-$Aj� ytI$��{� qs- VI`ZR�8�t�R �B i�{B%�� �Y� ]s}$�sj NBRR

yt �Y$R }s��� b� $t��BIZ{� s 4�-$Aj� $tI$��{� �s- s$8$t� �B ��{B%�� PZjjk �Y� $t$�$sj {s}$�sj jBRR
{sZR�I Ak �Y� �s��YJZs,�� q�{Yt${sjjk� b� R�� sR st sII$�$Btsj {BtR��s$t� �Ys� �Y� {s}$�sj
R�B{, jBRR YsR �B A� PZjjk ��{B%���I� stI $t��BIZ{� st �tIB��tBZR sI`ZR�8�t� �s�� Bt $tI$��{�
�s-�R sR s Rjs{, %s�$sAj� R��%$t� sR �Y� RYsIBb }�${� BP �Y$R {BtR��s$t�� G� ��jk Bt jsAB�s�B�k
{Ys�s{���$R�${R BP �Y� 8BI�j �B RBj%� PB� �Y� t�{�RRs�k sI`ZR�8�t�� qY� ��RZj�R s�� �$%�t $t
3$�Z�� n� qY� {s}$�sj jBRR ��{B%��$t� sI`ZR�8�t� BP �Y� $tI$��{� �s- �Z�tR BZ� �B A� t��s�$%�
n�n }��{�t� Z}Bt $8}s{�� stI $R ��sIZsjjk }YsR�I BZ�� qY$R $8}j$�R �Ys� �Y� �B%��t8�t�
RYBZjI �$%� st $tR�st�st�BZR n�n }��{�t� �s- A��s, �B sjj R�{�B�R� G� htI �Ys� �B�sj p*_ $t
�Y� �{BtB8k IB�R tB� {Yst�� R$�t$h{st�jk ws (�; }��{�t� $t{��sR� Bt $8}s{� stI (�(M }��{�t�
$t{��sR� }��8st�t�jkD� <Bb�%��� �B�sj {BtRZ8}�$Bt PsjjR Ak 1�� }��{�t� $t$�$sjjk� qY� jBt�
�Zt �JZ$j$A�$Z8 $tI${s��R s }��8st�t� I�{��sR� BP d�d }��{�t� $t {BtRZ8}�$Bt $t {B8}s�$RBt
�B �Y� $t$�$sj AsR� }s�Y� G� �Y���PB�� {Bt{jZI� �Ys� s {s}$�sjTjBRRT��{B%��$t� RZAR$Ik $R R�$jj
sRRB{$s��I b$�Y s b�jPs�� jBRR sj�YBZ�Y �Y� BZ�}Z� $R As{, �B $�R $t$�$sj AsR� }s�Y�

!Z� ��RZj�R PZ��Y�� $tI${s�� �Ys� s�����s�� IB8�R�${ $t%�R�8�t� �-}�tI$�Z��R Ys%� �B
A� $t{��sR�I Ak d� }��{�t� sP��� �Y� �s��YJZs,�� {Bt%���$t� js��� �B d�E }��{�t� sAB%� $�R
$t$�$sj }s�Y� qY� �-���tsj I�h{$� stI _73 s�� Z} Ak M; stI Ex }��{�t�� ��R}�{�$%�jk� s�
�Y� A��$tt$t�� yt B�Y�� bB�IR� �Y� �{BtB8k htst{�R �Y� {s}$�sj jBRR 8s$tjk Ak PB��$�t
AB��Bb$t��

xqY$R R{�ts�$B �-s{�jk 8s�{Y�R �Y� }Bj${k I$R{ZRR$BtR b$�Y$t �Y� 3$tst{� �$t$R��k� y� $R ��}B���I �Ys�

s Bt� }��{�t� $t{��sR� $t �Y� %sjZ� sII�I �s- $R A�$t� I�As��I �B {BZt���%s$j �Y� �-}�{��I AZ�I�t Bt �Y�

AZI���s�k BZ�jskR� WB�� �Ys� BZ� R{�ts�$B Y��� �B�R Bt� R��} PZ��Y��� stI I$��{�R �Y� }�B{��IR BP �Y� �s-

Btjk �B PZtI {s}$�sj $t%�R�8�t� Ak �Y� }ZAj${ R�{�B�

x



n�; 3B��$�t V$I �B i�{B%�� ]s}$�sj NBRR

!Z� htsj �-��{$R� sR,R �Y� PBjjBb$t� JZ�R�$BtU <Bb bBZjI �Y� �{BtB8k sI`ZR� $P �Y� {s}$�sj
��{B%��$t� $tI$��{� �s- wRZAR$IkD $R htst{�I Ak PB��$�t s$I stI YBb 8Z{Y PB��$�t s$I $R
��JZ$��I2 qY� ��RZj�R s�� �$%�t $t 3$�Z�� ;� qY� Btjk I$&���t{� A��b��t BZ� }��%$BZR �-��{$R�
ws RZAR$Ik �B sjj R�{�B�R htst{�I �tIB��tBZRjkD stI �Y$R {sR� $R $t {BtRZ8}�$Bt� Vj�YBZ�Y
�Y� �B�sj {BtRZ8}�$Bt PsjjR d�n }��{�t� s� �Y� A��$tt$t�� $� ��%��R�R $�R�jP $88�I$s��jk stI
{Bt%����R �B (�n }��{�t� sAB%� $�R $t$�$sj }s�Y� qY$R {sR� $R �Y� Btjk Bt� $t bY${Y �Y� b�jPs��
jBRR $R PZjjk {B8}�tRs��I PBjjBb$t� �Y� �s��YJZs,�� qY� �B�sj PB��$�t s$I ��JZ$��I �B }Z� �Y�
�{BtB8k �B $�R }��T�s��YJZs,� }s�Y $R {sj{Zjs��I sR x�E }��{�t� BP �B�sj p*_ Z}Bt $8}s{�
wdd A$jj$Bt =7 IBjjs�R s� d��M }�${�RD� �B A� PBjjBb�I Ak ��IZ{�I $t4BbR s8BZt�$t� �B 1�1
}��{�t� $t �Y� }��$BI �bB� stI d�d }��{�t� $t �Y� }��$BI �Y���� �Y�t ��sIZsjjk R�sA$j$9$t� s�
(�; }��{�t��

;� ]Bt{jZR$Bt

yt �Y$R }s}�� b� Ys%� s���8}��I �B st $t$�$sj sRR�RR8�t� BP �Y� 8sRR$%� VZ�ZR� d� �s��YJZs,�
$t qZ�,�k Bt �Y� 8s{�B�{BtB8${ Asjst{�R BP �Y� {BZt��k� =�$j$9$t� st $t�����8}B�sj pe
s}}s�s�ZR� b� ��$�I �B BA�s$t �R�$8s��R BP �Y� �-��t� BP �Y� Is8s�� Bt �Y� IB8�R�${ 8s{�B
Asjst{�R stI R��, BZ� %$sAj� }Bj${k j�RRBtR PB� ��{B%��k� 7�s��$t� P�B8 %��k {BtR��%s�$%�
sRRZ8}�$BtR Bt �Y� jBRR BP s�����s�� {s}$�sj R�B{, stI �8}jBk8�t�� stI $�tB�$t� j$,�jk
t��s�$%� �s�� �&�{�R Bt }�BIZ{�$%$�k� b� htI �Ys� �Y� $t$�$sj $8}s{� BP �Y� �s��YJZs,� Bt �Y�
p*_ 8sk �st�� P�B8 T;�x }��{�t�� �B L(�M }��{�t�� {BtI$�$Btsj Z}Bt �Y� }Bj${k R�st{� BP �Y�
�B%��t8�t� stI �Y� $t���ts�$Btsj {B88Zt$�k� !t� 8s`B� htI$t� BP BZ� stsjkR$R $R �Ys� �Y�
{Z���t�jk I�As��I $t{��sR� $t $tI$��{� �s- �s�� �B PZtI �Y� $t{��sR�I }ZAj${ �-}�tI$�Z�� $R
j$,�jk �B ��t��s�� PZ��Y�� {Bt��s{�$Bts�k �&�{�R Bt �Y� sj��sIk I$R�B���I �{BtB8k� I��}�t$t�
�Y� $8}s{� BP �Y� {�$R$R� G� sjRB htI �Ys� s }Bj${k BP }�BIZ{�$Bt RZAR$Ik �B $tI$%$IZsj R�{�B�R
htst{�I Ak PB��$�t s$I �B ��{B%�� �Y� {s}$�sj jBRR k$�jIR �Y� A�R� BZ�{B8� P�B8 �Y� }B$t� BP
%$�b BP {BtRZ8�� b�jPs���

E



i�P���t{�R

>dH  s��B i�F� stI �� 7sjsT$T�s��$t wd��xD� e{BtB8${ p�Bb�Y� W�b OB�,U �{p�sb <$jj�

>1H  jst{Ys�I� !�F� stI 7� 3$R{Y�� wd�M�D� N�{�Z��R Bt �s{�B�{BtB8${R� ]s8A�$I��U �yq _��RR�

>nH *$sB� i� stI e� O�jIst wd��MD� 3$R{sj *�A� �sts��8�t�� V{{Z8Zjs�$Bt stI q�stR$�$Bt *kT
ts8${R $t V ]pe �BI�j PB� qZ�,�k ]stsI$st FBZ�tsj BP *�%�jB}8�t� 7�ZI$�R� d�w1D� n;nTn�E�

>;H pB� *�7� wd��;D� e-���tsj 7YB{,R� VI`ZR�8�t� _Bj${$�R� stI yt%�R�8�t� $t s *�%�jB}$t� e{BtT
B8kU yjjZR��s�$BtR P�B8 s 3B�bs�ITjBB,$t� ]pe �BI�j BP �Y� _Y$j$}}$t�R� FBZ�tsj BP *�%�jT
B}8�t� e{BtB8${R ;;� 11�T1Ed�

>xH pBZjI��� N� stI N� 7Z88��R wd�M�D� qs- _Bj${k� VRR�� _�${�R� stI p�Bb�YU V p�t��sj eJZ$T
j$A�$Z8 VtsjkR$R� FBZ�tsj BP _ZAj${ e{BtB8${R nM� 1ExT1�E�

>EH �[BR�� V� VtI e� O�jIst wd��ED "]B, 7�,�B�jZ p�t�j *�t�� �BI�jj��$t$t z��$ qsAst$ =9��$t�
WB�js�U qZ�,$k� d��( 7BRksj <�Rs}js� �s��$R$"� �eq= 7�ZI$�R $t *�%�jB}8�t� 1nwdDU x�TMn�

>�H ���{�t$�� F� stI �� Is ]�7� I� 7BZ9s wd��;D� 7��Z{�Z�sj VI`ZR�8�t� stI p�Bb�Y $t s <$�Yjk
ytI�A��I �s�,�� e{BtB8kU  �s9$j� yt F� ���{�t$�� stI q� 7�$t$%sRst w�IR�D V}}j$�I p�t��sj

eJZ$j$A�$Z8 VtsjkR$R stI e{BtB8${ *�%�jB}8�t�� Vtt V�AB�U =t$%��R$�k BP �${Y$�st _��RR�

>MH ���{�t$�� F� stI e� O�jIst wd���D� !t qZ�,�k:R q�sI� _Bj${kU yR s ]ZR�B8 =t$Bt b$�Y eZ�B}�
etBZ�Y2� eZ�B}�st e{BtB8${ i�%$�b� ;d� M�dTMM(�

>�H 7�s�� ytR�$�Z�� BP 7�s�$R�${R w7y7D wd��;D� qY� d��( yt}Z�T!Z�}Z� 7��Z{�Z�� BP qZ�,�k� Vt,s�sU

7y7 _ZAj${s�$BtR�

�
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3$�Z�� 1U qY� e&�{� BP ytI$��{� qs-s�$Bt
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3$�Z�� nU qY� e&�{� BP ytI$��{� qs-s�$Bt �B i�{B%�� ]s}$�sj NBRR
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